
Palestine Journal of Mathematics

Vol. 12(1)(2023) , 990–997 © Palestine Polytechnic University-PPU 2023

SOME UNIFIED INTEGRAL FORMULAE ASSOCIATED
WITH HURWITZ-LERCH ZETA FUNCTION

Nirmal K. Jangid, Sunil Joshi and Sunil Dutt Purohit

Communicated by Deshna Loonker

MSC 2010 Classifications: Primary 33C70, 33C99; Secondary 33E20.

Keywords and phrases: Hurwitz-Lerch zeta function, Mac Robert integral, Oberhettinger integral, Lavoie-Trottier inte-
gral.

Abstract In the present work, we investigate five new generalised integral formulae by in-
volving the extension form of the Hurwitz-Lerch zeta function and obtain the results in the form
of a hypergeometric function in product form by using the properties of the Hadamard prod-
uct, from which two power series emerge. Furthermore, we also address their special cases by
making suitable substitutions. The results obtained here are of a general nature and far more
auspicious in the study of applied science, engineering and technology problems.

1 Introduction and Preliminaries

In the field of science and technology, integral formulae are very useful couse of the implemen-
tation of the relevant problems. As we know that several integral mechanisms have already been
developed but due to time requirements, we are also contributing to the development of new
integral formulae associated with Hurwitz-Lerch zeta function.
The Hurwitz-Lerch Zeta function (1.1) and its integral assertion (1.2) are respectively concrete
by (see [1] pp. 27, [5] pp. 121 and [6] pp. 194) as below:

φ(z, ε, ρ) =
∞∑
l=0

zl

(n+ ρ)ε
, (ρ ∈ C\z−0 , ε ∈ C, for |z| < 1;<(ε) > 1, when |z| = 1). (1.1)

Besides

φ(z, ε, ρ) =
1

Γ(ε)

∫ ∞
0

tε−1e−ρt

1− ze−t
dt =

1
Γ(ε)

∫ ∞
0

tε−1e−(ρ−1)t

et − z
dt, (1.2)

(<(ε) > 0,<(ρ) > 0 for |z| ≤ 1(z 6= 1);<(ε) > 1, when z = 1).
In this sequel, Goyal and Laddha [4] and Garg et al. [3] defined the new extension formula

of Hurwitz-Lerch Zeta function in (1.3) and (1.5) respectively and also defined their integral
representation as in (1.4) and (1.6) respectively.

φ∗γ(z, ε, ρ) =
∞∑
l=0

(γ)n
l!

zl

(n+ ρ)ε
, (1.3)

(γ ∈ C, ρ ∈ C\z−0 , ε ∈ C when |z| < 1;<(ε− γ) > 1 when |z| = 1),

φ∗γ(z, ε, ρ) =
1

Γ(ε)

∫ ∞
0

tε−1e−ρt

(1− ze−t)γ
dt =

1
Γ(ε)

∫ ∞
0

tε−1e−(ρ−γ)t

(et − z)γ
dt, (1.4)

(<(ε) > 0,<(ρ) > 0 when |z| ≤ 1(z 6= 1);<(ε) > 1 when z = 1).
And

φγ,u;v(z, ε, ρ) =
∞∑
l=0

(γ)l(u)l
(v)ll!

zl

(l+ ρ)ε
, (1.5)
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(γ, u, v ∈ C, ρ ∈ C\z−0 , ε ∈ C when |z| < 1;<(ε+ v − γ − u) > 1 when |z| = 1),

φγ,u;v(z, ε, ρ) =
1

Γ(ε)

∫ ∞
0

tε−1e−ρt2F1(γ, u; v; ze−t)dt, (1.6)

(<(ε) > 0,<(ρ) > 0 when |z| ≤ 1(z 6= 1);<(ε) > 1 when z = 1).
In addition, Parmar [13] introduced and investigated the new extension of the Hurwitz-Lerch

Zeta function in the form of beta function as

φγ,u;v(z, ε, ρ; p) =
∞∑
l=0

(γ)lB(u+ l, v − u; p)
B(u, v − u)l!

zl

(l+ ρ)ε
, (1.7)

where p ≥ 0, γ, u, v ∈ C, ρ ∈ C\Z−0 , ε ∈ C when |z| < 1,<(ε+v−γ−u) > 1 when |z| = 1.
Where B(ϑ, ϕ; p) is the extended beta function which is investigated by Chaudhry et al. [1]

as follow

B(ϑ, ϕ; p) = Bp(ϑ, ϕ) =

∫ 1

0
tϑ−1(1− t)ϕ−1e

− p
t(1−t) dt, (1.8)

where <(p) > 0,<(ϑ) > 0,<(ϕ) > 0.
Shadab et al. [17] recently developed a new and updated version of beta function extension,which
goes like this:

Bεp(ϑ, ϕ) = B(ϑ, ϕ; p, ε) =
∫ 1

0
tϑ−1(1− t)ϕ−1Eε

(
− p

t(1− t)

)
dt, (1.9)

where <(r) > 0,<(s) > 0 and Eε (.) is the Mittag-Leffler function given as

Eε (z) =
∞∑
l=0

zl

Γ(εl+ 1)
. (1.10)

Recently, Rahman et al. [15] have created a new extension of the Hurwitz-Lerch zeta function
in the form of extended beta function (1.9) as

φγ,u;v[z, ε, ρ; p, δ] = φδγ,u;v[z, ε, ρ; p] =
∞∑
l=0

(γ)lBδp(u+ l, v − u)
B(u, v − u) l!

zl

(l+ ρ)ε
, (1.11)

where [γ, u, v ∈ C, p ≥ 0, δ > 0, ρ ∈ C\z−0 , ε ∈ C when |z| < 1,<(ε+ v− γ − u) > 1 when
|z| = 1].

For our present investigation, we need some integral formulae which are given by Mac Robert
[6], Oberhettinger [12] and Lavoie-Trottier [5] in equation (1.12), (1.13) and (1.14) respectively
are as follows: ∫ 1

0
yς−1(1− y)ε−1[cy + d(1− y)]−ς−εdy = 1

cςdε
Γ(ς)Γ(ε)

Γ(ς + ε)
, (1.12)

provided that <(ς) > 0,<(ε) > 0, c and d are nonzero constants so the expression cy+d(1−
y), where 0 ≤ y ≤ 1.∫ ∞

0
θε−1

(
θ + c+

√
(θ2 + 2cθ)

)−ς
dθ = 2ςc−ς

( c
2

)ε Γ(2ε)Γ(ς − ε)
Γ(1 + ε+ ς)

, (1.13)

provided that 0 < <(ε) < <(ς).∫ 1

0
θς−1 (1− θ)2ε−1

(
1− θ

3

)2ς−1(
1− θ

4

)ε−1

dθ =

(
2
3

)2ς
Γ(ς)Γ(ε)

Γ(ς + ε)
, (1.14)

provided that <(ς) > 0,<(ε) > 0.
Here we also recall Hadamard product of two analytic functions which are helpful in our current
exploration. This will help us to ablate the function which has emerged into the product of two
known functions. Let’s have 2 power series be
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f(x) =
∑∞
n=0 anx

n (|x| < Rf ) and g(x) =
∑∞
n=0 bnx

n (|x| < Rg),
whereRf andRg are radii of convergence respectively. Then their Hadamard product [6],[14],[16]
is describes by the power series as

(f ∗ g)(x) =
∞∑
n=0

anbnx
n = (g ∗ f)(x) (|x| < R), (1.15)

where R = lim
n→∞

∣∣∣ anbn
an+1bn+1

∣∣∣ = ( lim
n→∞

∣∣∣ anan+1

∣∣∣) .( lim
n→∞

∣∣∣ bnbn+1

∣∣∣) = Rf .Rg,
in general R ≥ Rf .Rg.
Several authors contributed in the field of special functions and also associated with Baskakov-
Durrmeyer-Stancu type operators see ([7]-[11]). We also recall the generalized hypergeometric
function [2] with r and s are numerator and denominator respectively demarcated as

rFs

(
u1, u2, ..., ur;
v1, v2, ..., vs;

z

)
=
∞∑
l=0

(u1)l(u2)l...(ur)l
(v1)l(v2)l...(vs)l

zl

l!
, (1.16)

where z, ui, vj ∈ C, i = 1, 2, ...r, j = 1, 2, ..., s and vj is nonzero, non-negative integer.

2 Main Results

In this section we define five generalized integral formulae by inserting the extension form of
Hurwitz-Lerch zeta function (1.11) into the integral formulae (1.12), (1.13) and (1.14) by taking
suitable argument into the integrand.

Theorem 1: Let us suppose that <(ς) > 0,<(ε) > 0, γ, u, v ∈ C, p ≥ 0, δ > 0, ρ ∈ C\z−0 , c and
d are nonzero constants and 0 ≤ y ≤ 1, then∫ 1

0
yς−1(1− y)ε−1[cy + d(1− y)]−ς−εφδγ,u;v

(
2cdy(1− y)

{cy + d(1− y)}2 , ε, ρ; p
)
dy

=
B(ς, ε)

cςdε
φδγ,u;v

(
1
2
, ε, ρ; p

)
∗ 3F2

[
ς, ε, 1;

ς + ε

2
,
ς + ε+ 1

2
;

1
2

]
. (2.1)

Proof: For our convenience L.H.S. is denoted by I1, and by making the use of equation (1.11),
then we have

I1 =

∫ 1

0
yς−1(1− y)ε−1[cy+ d(1− y)]−ς−ε

∞∑
l=0

(γ)lBδp(u+ l, v − u)
B(u, v − u)(l+ ρ)εl!

[
2cdy(1− y)

{cy + d(1− y)}2

]l
dy

now we are adjusting the order of integration and summation,

I1 =
∞∑
l=0

(γ)lBδp(u+ l, v − u)(2cd)l

B(u, v − u)(l+ ρ)εl!

∫ 1

0
yς+l−1(1− y)ε+l−1[cy + d(1− y)]−ς−ε−2ldy

by making the use of equation (1.12), after some arrangements and simplification, we get

I1 =
∞∑
l=0

(γ)lBδp(u+ l, v − u)2l

B(u, v − u)(l+ ρ)εl!
Γ(ς)(ς)lΓ(ε)(ε)l

cςdε22l
(
ς+ε

2

)
l

(
ς+ε+1

2

)
l
Γ(ς + ε)

(2.2)

now we are applying the Hadamard product (1.15) in (2.2) and making the use of (1.11) and
(1.16), then we get the wanted outcome.

Theorem 2: Let us suppose that 0 < <(ε) < <(ς), c ∈ N, γ, u, v ∈ C, p ≥ 0, δ > 0, ρ ∈ C\z−0 ,
then

∫ ∞
0

θε−1
(
θ + c+

√
(θ2 + 2cθ)

)−ς
φδγ,u;v

 y(
θ + c+

√
(θ2 + 2cθ)

) , ε, ρ; p

 dθ
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= 21−εcε−ςς Γ(2ε)
Γ(ς − ε)

Γ(ε+ ς + 1)

×φδγ,u;v

(y
c
, ε, ρ; p

)
∗ 3F2

[
ς + 1, ς − ε, 1; ς, ς + ε+ 1;

y

c

]
. (2.3)

Proof: For our convenience L.H.S. is denoted by I2, and by making the use of equation (1.11),
then we have

I2 =

∫ ∞
0

θε−1
(
θ + c+

√
(θ2 + 2cθ)

)−ς ∞∑
l=0

(γ)lBδp(u+ l, v − u)
B(u, v − u)(l+ ρ)εl!

×

 y(
θ + c+

√
(θ2 + 2cθ)

)
l dθ

now we are adjusting the order of integration and summation,

I2 =
∞∑
l=0

(γ)lBδp(u+ l, v − u)yl

B(u, v − u)(l+ ρ)εl!

∫ ∞
0

θε−1
(
θ + c+

√
(θ2 + 2cθ)

)−ς−l
dθ

by making the use of equation (1.13), after some simplification and rearranging the terms, we
get

I2 = 21−εcε−ςς Γ(2ε)
Γ(ς − ε)

Γ(ε+ ς + 1)

∞∑
l=0

(γ)lBδp(u+ l, v − u)(ς + 1)l(ς − ε)l
B(u, v − u)(l+ ρ)ε(ς)l(ε+ ς + 1)ll!

(y
c

)l
(2.4)

now we apply the Hadamard product (1.15) in (2.4), and making the use of (1.11) and (1.16),
then we get the wanted consequence.

Theorem 3: Let us suppose that 0 < <(ε) < <(ς), c ∈ N, γ, u, v ∈ C, p ≥ 0, δ > 0, ρ ∈ C\z−0 ,
then

∫ ∞
0

θε−1
(
θ + c+

√
(θ2 + 2cθ)

)−ς
φδγ,u;v

 yθ(
θ + c+

√
(θ2 + 2cθ)

) , ε, ρ; p

 dθ

= 21−εcε−ςς Γ(2ε)
Γ(ς − ε)

Γ(ε+ ς + 1)
φδγ,u;v

(y
2
, ε, ρ; p

)
∗ 4F3

[
ς + 1, ε, ε+

1
2
, 1; ς,

ε+ ς + 1
2

,
ε+ ς + 2

2
;
y

2

]
. (2.5)

Proof: For our convenience L.H.S. is denoted by I3, and by making the use of equation (1.11),
then we have

I3 =

∫ ∞
0

θε−1
(
θ + c+

√
(θ2 + 2cθ)

)−ς ∞∑
l=0

(γ)lBδp(u+ l, v − u)
B(u, v − u)(l+ ρ)εl!

×

 yθ(
θ + c+

√
(θ2 + 2cθ)

)
l dθ

now we are adjusting the order of integration and summation,

I3 =
∞∑
l=0

(γ)lBδp(u+ l, v − u)yl

B(u, v − u)(l+ ρ)εl!

∫ ∞
0

θε+l−1
(
θ + c+

√
(θ2 + 2cθ)

)−ς−l
dθ
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by making the use of equation (1.13), after some simplification and rearranging the terms, we
get

I3 = 21−εcε−ςς Γ(2ε)
Γ(ς − ε)

Γ(ε+ ς + 1)

∞∑
l=0

(γ)lBδp(u+ l, v − u)(ς + 1)l(ε)l
(
ε+ 1

2

)
l

B(u, v − u)(l+ ρ)ε(ς)l
(
ε+ς+1

2

)
l

(
ε+ς+2

2

)
l
l!

(y
2

)l
(2.6)

now we put on the Hadamard product (1.15) in (2.6), and making the use of (1.11) and (1.16),
then we get the awaited result.

Theorem 4: Let us suppose that <(ς) > 0,<(ε) > 0, γ, u, v ∈ C, p ≥ 0, δ > 0, ρ ∈ C\z−0 , then

∫ 1

0
θς−1 (1− θ)2ε−1

(
1− θ

3

)2ς−1(
1− θ

4

)ε−1

φδγ,u;v

[
y

(
1− θ

4

)
(1− θ)2

, ε, ρ; p
]
dθ

=

(
2
3

)2ς

B(ς, ε)φδγ,u;v (y, ε, ρ; p) ∗ 2F1 [ε, 1; ς + ε; y] . (2.7)

Proof: For our convenience L.H.S. is denoted by I4, and by making the use of equation (1.11),
then we have

I4 =

∫ 1

0
θς−1 (1− θ)2ε−1

(
1− θ

3

)2ς−1(
1− θ

4

)ε−1 ∞∑
l=0

(γ)lBδp(u+ l, v − u)
B(u, v − u)(l+ ρ)εl!

×yl
(

1− θ

4

)l
(1− θ)2l

dθ

now we are adjusting the order of integration and summation,

I4 =
∞∑
l=0

(γ)lBδp(u+ l, v − u)yl

B(u, v − u)(l+ ρ)εl!

∫ 1

0
θς−1 (1− θ)2(ε+l)−1

(
1− θ

3

)2ς−1(
1− θ

4

)ε+l−1

dθ

by making the use of equation (1.14), and further simplification and rearranging the terms, we
get

I4 =

(
2
3

)2ς

B(ς, ε)
∞∑
l=0

(γ)lBδp(u+ l, v − u)(ε)lyl

B(u, v − u)(l+ ρ)ε(ς + ε)ll!
(2.8)

now we apply the Hadamard product (1.15) in (2.8), and making the use of (1.11) and (1.16),
then we get the wanted outcome.

Theorem 5: Let us suppose that <(ς) > 0,<(ε) > 0, γ, u, v ∈ C, p ≥ 0, δ > 0, ρ ∈ C\z−0 , then

∫ 1

0
θς−1 (1− θ)2ε−1

(
1− θ

3

)2ς−1(
1− θ

4

)ε−1

φδγ,u;v

[
yθ

(
1− θ

3

)2

, ε, ρ; p

]
dθ

=

(
2
3

)2ς

B(ς, ε)φδγ,u;v

(
4y
9
, ε, ρ; p

)
∗ 2F1

[
ς, 1; ς + ε;

4y
9

]
. (2.9)

Proof: For our convenience L.H.S. is denoted by I5, and by making the use of equation (1.11),
then we have

I5 =

∫ 1

0
θς−1 (1− θ)2ε−1

(
1− θ

3

)2ς−1(
1− θ

4

)ε−1 ∞∑
l=0

(γ)lBδp(u+ l, v − u)
B(u, v − u)(l+ ρ)εl!

ylθl

×
(

1− θ

3

)2l

dθ
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now we are adjusting the order of integration and summation,

I5 =
∞∑
l=0

(γ)lBδp(u+ l, v − u)yl

B(u, v − u)(l+ ρ)εl!

∫ 1

0
θς+l−1 (1− θ)2ε−1

(
1− θ

3

)2(ς+l)−1(
1− θ

4

)ε−1

dθ

by making the use of equation (1.14), and further simplification and rearranging the terms, we
get

I5 =

(
2
3

)2ς

B(ς, ε)
∞∑
l=0

(γ)lBδp(u+ l, v − u)(ς)l
B(u, v − u)(l+ ρ)ε(ς + ε)ll!

(
4y
9

)l
(2.10)

now we apply the Hadamard product (1.15) in (2.10), and making the use of (1.11) and (1.16),
then we get the anticipated consequence.

3 Special cases

In this section we are going to find some integral formulae by substituting particular values, If we
put δ = p = 1 in (2.1),(2.3),(2.5),(2.7) and (2.9), then we have our results in the form Hadamard
product of Hurwitz-Lerch zeta function investigated by Garg et al. [3] with hypergeometric func-
tion, which are defined in the following Corollaries. As if we put ς = ε = c = d = δ = p = 1,
in (2.1) then we have Corollary 1 as below:

Corollary 1: Let us suppose that<(ς) > 0,<(ε) > 0, γ, u, v ∈ C, ρ ∈ C\z−0 , c and d are nonzero
constants and 0 ≤ y ≤ 1. then∫ 1

0
φγ,u;v [2y(1− y), ε, ρ] dy = φγ,u;v

(
1
2
, ε, ρ

)
∗ 2F1

[
1, 1;

3
2

;
1
2

]
. (3.1)

Similarly, as if we put ε = δ = p = 1, ς = 2, in (2.3) and (2.5), then we have Corollary 2 and
Corollary 3 as follows:

Corollary 2: Let us suppose that 0 < <(ε) < <(ς), c ∈ N, γ, u, v ∈ C, ρ ∈ C\z−0 , then

∫ ∞
0

(
θ + c+

√
(θ2 + 2cθ)

)−2

φγ,u;v

 y(
θ + c+

√
(θ2 + 2cθ)

) , ε, ρ
 dθ

=
1
3c
φγ,u;v

(y
c
, ε, ρ

)
∗ 3F2

[
3, 1, 1; 2, 4;

y

c

]
. (3.2)

Corollary 3: Let us suppose that 0 < <(ε) < <(ς), c ∈ N, γ, u, v ∈ C, ρ ∈ C\z−0 , then

∫ ∞
0

(
θ + c+

√
(θ2 + 2cθ)

)−2

φγ,u;v

 yθ(
θ + c+

√
(θ2 + 2cθ)

) , ε, ρ
 dθ

=
1
3c
φγ,u;v

(y
2
, ε, ρ

)
∗ 4F3

[
3, 1,

3
2
, 1; 2, 2,

5
2

;
y

2

]
. (3.3)

In this manner if we substitute ς = 1, ε = δ = p = 1, in (2.7) and (2.9), then we have Corollary
4 and Corollary 5 as follows:
Corollary 4: Let us suppose that <(ς) > 0,<(ε) > 0, γ, u, v ∈ C, ρ ∈ C\z−0 , then∫ 1

0
(1− θ)

(
1− θ

3

)
φγ,u;v

[
y

(
1− θ

4

)
(1− θ)2

, ε, ρ

]
dθ

=
4
9
φγ,u;v (y, ε, ρ) ∗ 2F1 [1, 1; 2; y] . (3.4)

Corollary 5: Let us suppose that <(ς) > 0,<(ε) > 0, γ, u, v ∈ C, ρ ∈ C\z−0 , then
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∫ 1

0
(1− θ)

(
1− θ

3

)
φγ,u;v

[
yθ

(
1− θ

3

)2

, ε, ρ

]
dθ

=
4
9
φγ,u;v

(
4y
9
, ε, ρ

)
∗ 2F1

[
1, 1; 2;

4y
9

]
. (3.5)

4 Conclusion

In this present investigation, we defined five new generalised integral formulae by involving the
extension form of the Hurwitz-Lerch zeta function and deduced the results in the form of hy-
pergeometric functions in product form by using the properties of the Hadamard product of two
power series. Furthermore, we also discussed their special cases by making suitable substitu-
tions. The future scope of these integrals is that one can define many other impressive integrals
by using different kinds of Hurwitz-Lerch zeta function, trigonometric and hyperbolic functions,
after appropriate parametric replacements, special functions product with different kinds of poly-
nomials or multivariable polynomials, which gives remarkable results. The reported findings are
general in nature and useful in the study of science and technology.

Acknowledgements

The authors express their sincere thanks to the reviewers for their careful reading and suggestions
that helped to improve this paper.

References
[1] M.A. Chaudhry, A. Qadir, M. Rafique and S.M. Zubair, Extension of Eulers Beta Function, J. Comput.

Appl. Math. 78, 19–32 (1997).

[2] A. Erdelye, W. Magnus, F. Oberhettinger and F.G. Tricomi, Higher Transcendental Functions, Vol.1,
McGraw-Hill, New York, Toronto, London, (1953).

[3] M. Garg, K. Jain and S.L. Kalla, A further Study of General Hurwitz-Lerch Zeta Function, Algebras
Groups Geom. 25, 311–319 (2008).

[4] S.P. Goyal and R.K. Laddha, On the Generalized Zeta Function and the Generalized Lambert Function,
Ganita Sandesh 11, 99–108 (1997).

[5] J.L. Lavoie and G. Trottier, On the Sum of Certain Appell’s Series,Ganita 20, 43–66 (1969).

[6] T.M. MacRobert, Beta Functions Formulae and Integrals Involving E-Function, Math.Annalen 142, 450–
452 (1961).

[7] V.N. Mishra, Some Problems on Approximations of Functions in Banach Spaces, Ph.D. Thesis, Indian
Institute of Technology, Roorkee, 247–667 (2007).

[8] V.N. Mishra and L.N. Mishra, Trigonometric Approximation of Signals (Functions) in Lp- norm, Int. J.
Contemp. Math. Sci. 7, 909–918 (2012).

[9] V.N. Mishra, K. Khatri, L.N. Mishra and Deepmala, Inverse Result in Simultaneous Approximation by
Baskakov-Durrmeyer-Stancu operators, J. Inequal. Appl., (2013), doi:10.1186/1029-242X-2013-586.

[10] V.N. Mishra, K. Khatri and L.N. Mishra, Statistical Approximation by Kantorovich type Discrete q−Beta
operators, Adv. Diff. Equ. 2013, (2013), DOI:10.1186/10.1186/1687-1847-2013-345.

[11] V.N. Mishra, H.H. Khan, K. Khatri and L.N. Mishra, Hypergeometric Representation for Baskakov-
Durrmeyer-Stancu Type Operators, Bulletin of Mathematical Analysis and Applications 5, 18–26 (2013).

[12] F. Oberhettinger, Tables of Mellin Transform, Springer-Verlag, New York, (1974).

[13] R.K. Parmar, On a certain Extension of Hurwitz-Lerch Zeta Function, Analele Universitaii de Vest,
Timioara, Seria Mathematica-informatica,LII 2, 157–170 (2014).

[14] T. Pohlen, The Hadamard Product and Universal Power Series, Ph.D Thesis, Universitat Trier, Trier,
Germany, (2009).

[15] G. Rahman, K.S. Nisar and M. Arshad, A New Extension of Hurwitz-Lerch Zeta Function,
arXiv:1802.07823v1[math.CA], (2018).

[16] R.K. Saxena and R.K. Parmar, Fractional Integration and Differentiation of the Generalized Mathieu Se-
ries, axioms, MDPI, (2017).



SOME UNIFIED INTEGRAL FORMULAE 997

[17] M. Shadab, S. Jabee and J. Choi, An Extension of Beta Function and its Application, Far East Journal of
Mathematical Sciences 103, 235–251 (2018).

Author information
Nirmal K. Jangid, Department of Mathematics and Statistics, Manipal University Jaipur, Jaipur, India.
E-mail: nirmaljangid321@gmail.com

Sunil Joshi, Department of Mathematics and Statistics, Manipal University Jaipur, Jaipur, India.
E-mail: sunil.joshi@jaipur.manipal

Sunil Dutt Purohit, Department of HEAS (Mathematics), Rajasthan Technical University, Kota, India.
E-mail: sunil_a_purohit@yahoo.com

Received: October 27, 2021.

Accepted: January 4, 2022.


	1 Introduction and Preliminaries
	2 Main Results
	3 Special cases
	4 Conclusion

